2. MIPAS Daily Report for level 2 products summary report

(See mipas_daily_report_level2_ML2PP_7_03_W_20050405.html for a detailed report).
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¢ 2.1.1 Report summary
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e 2.2.1 Successful retrievals

e 2.2.2 Pressure overview

e 2.2.3 Temperature overview

¢ 2.2.4 Species overview

¢ 2.2.5 History of daily averages

2.1 General Info

This report contains a daily analysis on parameters extracted from MIPAS level 2 data (The MIP_NL__ 2P product).

2.1.1 Report summary

The table below shows general characteristics of the data that are included into this report.

Item Value

Report version

v1.11 26-05-2015

Time of report generation

20APR2016 10:09:09

Data source version

ML2PP/7.03-W

Processing scope for products

05APR2005 00:00:00 to 06APR2005 00:00:00

Start time of first product within scope |04APR2005 23:20:34

Stop time of last product within scope |06APR2005 00:29:26

Total number of level 2 products 15

Number of level 2 products with errors |0

2.1.2 Summary per product

The following table shows a summary for each product used in this report.

# Product name Start time Stop time Prod err|Number of scans (tot/proc) Quality summary warnings

0 |MIP_NL__2PWDSI20050404_232034_000060292036_00102_16188_1000.N1|04APR2005 23:20:34 | 05APR2005 01:01:03 |0 93/93 VMR_TERM_MACRO_MICRO[O3/micro:1]

1 |MIP_NL__2PWDSI20050405_010109_000060302036_00103_16189_1000.N1|05APR2005 01:01:09 | 05APR2005 02:41:39 |0 93/93 VMR_TERM_MACRO_MICRO[F14/micro:1]

2 |MIP_NL__2PWDSI20050405_024145_000060302036_00104_16190_1000.N1|05APR2005 02:41:45 | 05APR2005 04:22:15 |0 93/93

3 |MIP_NL__2PWDSI20050405_042221_000060302036_00105_16191_1000.N1|05APR2005 04:22:21 | 05APR2005 06:02:51 |0 93/93

4 |MIP_NL__2PWDSI20050405_060257_000060302036_00106_16192_1000.N1|05APR2005 06:02:57 | 05APR2005 07:43:27 |0 93/93 P_T_TERM_MACRO_MICRO[micro:1]

5 |MIP_NL__2PWDSI20050405_074333_000060302036_00107_16193_1000.N1|05APR2005 07:43:33 | 05APR2005 09:24:03 |0 93/93 P_T_TERM_MACRO_MICRO[micro:1]

6 |MIP_NL_ 2PWDSI20050405_092409_000060352036_00108_16194_1000.N1|05APR2005 09:24:09 | 05APR2005 11:04:44 |0 79179 VMR_TERM_MACRO_MICRO[F14/macro:1; O3/micro:1]
7 |MIP_NL__2PWDSI20050405_110450_000060252036_00109_16195_1000.N1|05APR2005 11:04:50 | 05APR2005 12:45:15|0 93/93 VMR_TERM_MACRO_MICRO[HCN/macro:1; HCN/micro:1]
8 |MIP_NL__2PWDSI20050405_124521_000060302036_00110_16196_1000.N1|05APR2005 12:45:21 | 05APR2005 14:25:51 |0 93/93 VMR_TERM_MACRO_MICRO[F14/micro:1]

9 |MIP_NL__2PWDSI20050405_142557_000060302036_00111_16197_1000.N1|05APR2005 14:25:57 | 05APR2005 16:06:26 |0 93/93 VMR_TERM_MACRO_MICRO[F14/macro:1; HCN/micro:2]
10 |MIP_NL__2PWDSI20050405_160633_000060302036_00112_16198_ 1000.N1|05APR2005 16:06:33 | 05APR2005 17:47:03 |0 93/93 VMR_TERM_MACRO_MICRO[HCN/micro:2]

11 |MIP_NL__2PWDSI20050405_174709_000060302036_00113_16199 1000.N1|05APR2005 17:47:09 | 05APR2005 19:27:38 |0 93/93 VMR_TERM_MACRO_MICRO[F14/macro:1; F14/micro:1]
12 |MIP_NL__2PWDSI20050405_192745_000060302036_00114_16200_1000.N1|05APR2005 19:27:45 | 05APR2005 21:08:15 |0 93/93 VMR_TERM_MACRO_MICRO[F14/macro:1; HCN/micro:1]
13| MIP_NL__2PWDSI20050405_210821_000060302036_00115_16201_1000.N1|05APR2005 21:08:21 | 05APR2005 22:48:50 | 0 93/93 VMR_TERM_MACRO_MICRO[F14/macro:1]

14 |MIP_NL__2PWDSI20050405_224857_000060302036_00116_16202_1000.N1|05APR2005 22:48:57 | 06APR2005 00:29:26 | 0 93/93

2.2 Processing performance indicators




2.2.1 Successful retrievals

This section includes a table with statistics on the number of retrievals, as well as a worldmap plot that shows successful retrievals.

RETRIEVAL MDS

# scans processed | # Successful retrievals | %

PT

1381 1290 93.411

H20

1381 1288 93.266

03

1381 1288 93.266

HNO3

1381 1288 93.266

CH4

1381 1288 93.266

N20

1381 1288 93.266

NO2

1381 1288 93.266

F11

1381 1288 93.266

CLNO

1381 1288 93.266

N205

1381 1288 93.266

F12

1381 1288 93.266

COF2

1381 1288 93.266

CCL4

1381 1288 93.266

HCN

1381 1288 93.266

F14

1381 1288 93.266

F22

1381 1288 93.266

Mumber of succassful retrievals ve, geolocatism {#=day side , triangle=night side}.
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2.2.2 Pressure overview
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This section shows values (left) and error (right) for pressure after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.3 Temperature overview

This section shows values (left) and error (right) for temperature after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4 Species overview

2.2.4.1 H20 overview This section shows values (left) and error (right) for H20 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.2 O3 overview This section shows values (left) and error (right) for O3 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.3 HNO3 overview This section shows values (left) and error (right) for HNO3 after binning individual sweep values over retrieved altitude and tangent latitude.
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HNO3 winr [ppmv]
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2.2.4.4 CH4 overview This section shows values (left) and error (right) for CH4 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.5 N20 overview This section shows values (left) and error (right) for N20 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.6 NO2 overview This section shows values (left) and error (right) for NO2 after binning individual sweep values over retrieved altitude and Sun Elevation Angle. Note that for NO2 the bin heights are 8 km.
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hows values (left) and error (right) for F11 after binning individual sweep values over retrieved altitude and tangent latitude.
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Tangent aititude [km] for pressure 1000 hPa
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CH4 vmr [ppmyv] far pressure 100.0 hPo
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F11 vmr [pprry] for pressure 100.0 hPao
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Caily averaga [ase titla]

MZDS vrnr [pprev] far pressure 100.0 hRa
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Craily averags [:scc ’r.'lﬂ-:]

COFZ wmr [pprmy] for pressure 100.0 hPa
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HCM wmr [pprav] for pressure 100.9 hPa
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F22 vmr [pprrv] for pressure 100.0 hPa
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Tangant altitude [km] for pressure 10.0 hPa
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Caily average [zee title]

03 vmr [ppmy] for pressure 1000 hPa
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CH4 wmr [ppmy] for pressure 10.0 hPa

Caily averaga [==s title]
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Caily average [see title]

Caily average [zee title]

MNOZ wmr, sun elev==0 [ppmy] for pressure 10.0 hPa
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Daily averaga [ase titla]

Daily averaga [ase titla]
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Caily overage [see title]
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Caily overage [see title]

COFZ wmr [pprv] for pressure 10.0 hPa
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CCL4 vmr [pprev] far pressure 19.0 hRa
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HCH wrr [pprov] for pressure 10.0 hPa
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Timz [atart of day]
F14 vmr [ppmy] far pressure 10.0 hPa
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B o ............................ o ............................

H—+—0C to —E0 deg
[ —BC to —E& deg
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Caily avaraqa [eee title]

F22 vmr [ppmy] far pressure 10.0 hPa
R T [ : : :

1.5x107

H—+—9C to —E0 deg
[#—+—BC to —B5 deg
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Tangent altitude [km] for pressure 1.0 hPa
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HZC wimr [pprmy] far pressure 1.0 hPa
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03 wmr [ppmy] for pressure 1.0 hPa
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Time= [atart of day]
HMOZ wmr [pprav] for pressure 1.0 hPa
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Caily average [zee title]
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CH4 vmr [ppmy] for pressure 1.0 hPa

Caily averaga [==s title]
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&5 to 80 deg
B0 to 90 deg

0.8
Oz 20, 240 000,00 D=0, 00 000050 Qo:00, 00 0z 0L O 0 00,00
{15 A1 /5005 20,401 /2005 04 £02 73005 18,7043 /2005 08 /03 /2005 21 A3 /5005 05 /04 /2005
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MOZ wrar, sun elev==0 [ppmy] for preasure 1.0 hPa
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MOZ wmr, sun elev<Q [ppmy] for pressure 1.0 hPa
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F11 wimr [ppmy] for pressure 1.0 hPo
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Caily averaga [ase titla]

MZOE wvmir [pprmv] for pressure 1.0 hPa
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HCM wrar [ppmv] for pressure 1.0 hPa
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F22 vimr [ppmy] for pressure 1.0 hPg
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03 wmr [ppmy] for pressure 0ol hPa
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F11 wimr [ppmy] for pressure 0.1 hPo
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MZOE wmir [pprmv] for pressure 9.1 hPa
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COFZ wmr [pprv] for pressure 0.1 hPa
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HCM wrar [ppmv] for pressure 0.1 hPa
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H—+—0C to —E0 deg
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F22 vimr [ppmy] for pressure 0.1 hPg
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Temperdature [K] for pressure ©.1 hPa

pats)

250

5

Caily averaga [=== title]

230

_h+ H—+—00 ta —EB0 deg
= —B0 tn —B5 deg

—G3 to —20 deg

wei | [F-E—20 to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

A IS S RTINS SO £ DA S S |

» A |

235 ......................................... + .............. .E ..... K .......................... w E ......................... XM ..................... - “E-
d{ 1

220

T S A A F— oS

D500
5 /01 FE005

(00,40
20/ 200

00,00 (000,50 (00, 0
o A02, 2005 19 /635 /2005 08 /03 /2005

Timz [atart of day]

00,15
21 /03 F005

O 00,0
(15 Fd 2005




Tangent altitude [km] for pressure 0.1 hPa

68

}E(+

87

[ k]
o

| f—+—92 to —EB0 deg
CHl| [#%—80 ta —B5 deg

5 5 5 ... FIE] =2 -
& — Bl :E;;Ef o E . 65 to —20 deg
! % : i | [FE-20 to 20 deg

i i i - E : o 20 to 85 deg
a; ............................ .E: g e R i T i. ........................... . EﬁtDE-CIEIEg

h
rn

i
=

Caily averaqa [eee title]

Do ' : i : 50 to 00 de
' L ' v ' g
i R " i

|
o

Bl R T .......................... PPN ............................ oo -

£1

D500 (00,40 00,00 (000,50 (00, 0 00,15 O 00,0
5 /01 FE005 20/ 200 o A02, 2005 19 /635 /2005 08 /03 /2005 21 /03 F005 (15 Fd 2005

Timz [atart of day]




a2

HZC winr [pprmv] for pressure 0.1 hP4d

+—+—8C to —80 deg
=3 —B0 to —B5 deg

0
p 5
2 5 —B5 to —20 deg
= g [E1—-2C to 20 deg
e ; 20 to 85 deg
z i | B8 ta 80 deg
= ; &0 to 90 deq
& 4 ;
; |
2 : ; : ; : :
D000, 00 00:00,00 D000 Q000,00 Q00,00 O0z00.00 000,00
05 /01 /5005 20,401 /2005 04702 /2005 18,05 /2005 08,703 /2005 21 /03,3005 05 /04 /2005

Timz [atart of day]




Q3 wmr [ppmy] for pressure C.1 hPd
1.4 H : H

1.2

B 1.0 (90 to —50 deg
- - —B0 to —65 deg
K3 —B5 to —20 deg
> g [F-£1—20 ta 20 deg
2 20 to 35 deq

= —— 65 to 0 deg
= &0 to 90 deq

a

=
m

0.4

0.2 . - : : , :
D500 (00,40 00,00 (000,50 (00, 0 00,15 O 00,0
5 /01 FE005 20/ 200 o A02, 2005 19 /635 /2005 08 /03 /2005 21 /03 F005 (15 Fd 2005

Timz [atart of day]



CH4 winr [ppmy] for pressure ©.1 hPd

0.25

028
2 (90 to —50 deg
015 B0 ta —65 deg
k] —B5 to —20 deg
a [F-£1—20 ta 20 deg
e 20 to 35 deq
= —— 65 to 0 deg
S 010 B0 to 90 deg
&

0,05

0.00 : ; : : : :

D0z 00L00 000,00 D000 00:00,00 Q000,00 Q000,00 000,00

05 /04 Fe00s 20,401 /3005 o4 /02 F2005 18 /0% /2005 06/ 03,2005 21 /0373005 (5 /04 /3005

Timz [atart of day]




MNOZ wrar, sun elevs==0 [ppmy] for pressure 0.1 hPa

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

Oz G20 Qs 00,00 AN Q00000 005, a0 Q0000 ;00,00
05 /01 /2005 2001 /2005 o4 /02 /2005 18 /02 /2005 (803 /2005 21 /63,2008 (5 /04 /2005

Timz [atart of day]




MOZ winr, sun elev<0 [ppmy] for pressure 0.1 hPd

1.0

LB b ............................. ............................ e ............................
= (90 to —50 deg
B O S S S .| Pex—B0 ta —BS deg
K3 —B5 to —20 deg
@ [F-E-20 ta 20 deg
2 20 to 35 deq
E ............................ Lot i it et e s m s m s m s rm e am s m s Ea s s s a o EEarma e L T T T T T T T T T T T T _Eﬁ tD EI:' dEH
5 4 : ' ' B0 to 90 deg
a

7Y — S S A— S S

0.0 : i : : : :

Oz G20 Qs 00,00 AN Q00000 005, a0 Q0000 ;00,00
05 /01 /2005 2001 /2005 o4 /02 /2005 18 /02 /2005 (803 /2005 21 /63,2008 (5 /04 /2005

Timz [atart of day]




1.0

0.8

=
o=

=
I

Daily averaga [=as title]

0.2

0.0

D500
5 /01 FE005

F11 wmr [pprmyv] for pressure 2.1 hPa

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

20/ 200

AN Q00000 005, a0

04 /02 /2005 19,/02 /2005 0E /03 /2005
Timz [atart of day]

21 /03 F005 (15 Fd 2005




1.0

0.8

=
o=

=
I

Daily averaga [=as title]

0.2

0.0

D500
5 /01 FE005

CLNO vwmr [pprmy] for pressure ©.1 hPa

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

20/ 200

AN Q00000 005, a0

04 /02 /2005 19,/02 /2005 0E /03 /2005
Timz [atart of day]

21 /03 F005 (15 Fd 2005




1.0

0.8

=
o=

=
I

Daily averaga [=as title]

0.2

0.0

D500
5 /01 FE005

NZOE vimr [pprmw] far pressure 9.1 hPa

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

20/ 200

AN Q00000 005, a0

04 /02 /2005 19,/02 /2005 0E /03 /2005
Timz [atart of day]

21 /03 F005 (15 Fd 2005




1.0

0.8

=
o=

=
I

Daily averaga [=as title]

0.2

0.0

D500
5 /01 FE005

F12 wmr [pprmyv] for pressure 2.1 hPa

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

20/ 200

AN Q00000 005, a0

04 /02 /2005 19,/02 /2005 0E /03 /2005
Timz [atart of day]

21 /03 F005 (15 Fd 2005




1.0

0.8

=
o=

=
I

Daily averaga [=as title]

0.2

0.0

D500
5 /01 FE005

COFZ wer [ppriv] for pressure 0.1 hPa

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

20/ 200

AN Q00000 005, a0

04 /02 /2005 19,/02 /2005 0E /03 /2005
Timz [atart of day]

21 /03 F005 (15 Fd 2005




1.0

0.8

=
o=

=
I

Daily averaga [=as title]

0.2

0.0

D500
5 /01 FE005

CCL4 wmr [pprov] for pressure 9.1 hPa

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

20/ 200

AN Q00000 005, a0

04 /02 /2005 19,/02 /2005 0E /03 /2005
Timz [atart of day]

21 /03 F005 (15 Fd 2005




1.0

0.8

=
o=

=
I

Daily averaga [=as title]

0.2

0.0

D500
5 /01 FE005

HCM wrar [pprmv] for pressure 0.1 hPa

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

20/ 200

AN Q00000 005, a0

04 /02 /2005 19,/02 /2005 0E /03 /2005
Timz [atart of day]

21 /03 F005 (15 Fd 2005




1.0

0.8

=
o=

=
I

Daily averaga [=as title]

0.2

0.0

D500
5 /01 FE005

F14 wmr [pprmyv] for pressure 2.1 hPa

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

20/ 200

AN Q00000 005, a0

04 /02 /2005 19,/02 /2005 0E /03 /2005
Timz [atart of day]

21 /03 F005 (15 Fd 2005




1.0

0.8

=
o=

=
I

Daily averaga [=as title]

0.2

0.0

D500
5 /01 FE005

F22 wmr [pprmyv] for pressure 0.1 hPg

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

20/ 200

AN Q00000 005, a0

04 /02 /2005 19,/02 /2005 0E /03 /2005
Timz [atart of day]

21 /03 F005 (15 Fd 2005




	index
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_0
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_1
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_2
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_3
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_4
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_5
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_6
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_7
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_8
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_9
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_10
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_11
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_12
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_13
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_14
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_15
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_16
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_17
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_18
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_19
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_20
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_21
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_22
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_23
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_24
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_25
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_26
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_27
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_28
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_29
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_30
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_31
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_32
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_33
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_34
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_35
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_36
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_37
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_38
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_39
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_40
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_41
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_42
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_43
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_44
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_45
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_46
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_47
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_48
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_49
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_50
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_51
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_52
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_53
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_54
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_55
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_56
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_57
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_58
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_59
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_60
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_61
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_62
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_63
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_64
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_65
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_66
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_67
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_68
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_69
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_70
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_71
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_72
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_73
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_74
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_75
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_76
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_77
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_78
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_79
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_80
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_81
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_82
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_83
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_84
	mipas_daily_report_level2_ML2PP_7_03_W_20050405_summary_85

